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इकाई – IV/ Unit – IV 
4.  Hkkjr esa lkekftd lqj{kk dk fo'ys’k.k dhft,A     
  Analyse the social security in India.  

अथवा/OR   eyhu cfLr;ksa ds mUewyu gsrq ljdkj }kjk fd;s tk jgs iz;klksa dk 
  ewY;kadu dhft,A  
  Evaluate the efforts being made by the government for the 

eradication of slums.   
------------------------- 
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 TIME – 3 HOURS MAX MARKS – 80 
  MIN MARKS – 16 
नोटः ᮧ᳤पᮢ मᱶ तीन ख᭛ड अ, ब, स, ह।ᱹ सभी ᮧ᳤ अिनवायᭅ ह।ᱹ 
  ख᭛ड अ – सभी cgqoSdfYid ᮧ᳤ हल करᱶ। 
  ख᭛ड ब – ᮧ᭜येक इकाई से ᮧ᳤ हल करᱶ। 
  ख᭛ड स - ᮧ᭜येक इकाई से ᮧ᳤ हल करᱶ। 
Note: This question paper has three sections A, B, & C. All questions in every section are 

compulsory. 
  Section A – Attempt all Very Short Answer Type questions. 
  Section B – Attempt all questions. 
  Section C – Attempt all questions. 
 ख᭛ड 'अ' / Section 'A'    

/ Multiple Choice Questions 
 

1. vkS|ksfxd dzkafr loZizFke fdl ns'k esa gqbZ\ 

 (a) phu    (b) Qzkal  (c) baXyS.M  (d) vesfjdk 

In which country did the industrial revolution first take place? 
(a) China  (b) France  (c) England  (d) America 

2. Hkkjr dh izFke vkS|ksfxd uhfr dh ?kks’k.kk dc dh xbZ\ 

 (a)  1948  (b) 1950       (c) 1947   (d) 1946 
When was the first industrial policy of India annouced?  
(a) 1948  (b) 1950  (c) 1947  (d) 1946 
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3. vFkZO;oLFkk dk izkFkfed {ks= fdlls lacaf/kr gS\ 

 (a)  d`f’k     (b) m|ksx   

 (c)  O;kikj    (d) lsok{ks= 

What is the primary sector of the eonomy related to?  
(a) Agriculture  (b) Industry  
(c) Business  (d) Service sector  
 

4. ns'k dk lcls cM+k lkoZtfud midze gS &  

 (a) lM+d ekxZ  (b) ok;qekxZ 
 (c) tgkt ekxZ  (d) jsyekxZ  

It is the largest public sector undertaking in the country -  
(a) Roadyways   (b) Airways   
(c) Shipways   (d) Railways  
 

5. Hkkjrh; bLikr izkf/kdj.k fyfeVsM dh LFkkiuk dc gqbZ\ 

 (a) 1964  (b) 1974    (c) 1869     (d) 1984 
When was the steel authority of India limited established?  

 (a) 1964  (b) 1974    (c) 1869     (d) 1984 
 

6. lw;ksZn; m|ksx ls D;k rkRi;Z gS\ 

 (a) izdk'k ls lacaf/kr   

 (b) os m|ksx ftlesa mRiknu lw;Z ds izdk'k esa fd;k tkrk gSA 

 (c) os m|ksx ftueas lkSj ÅtkZ dk mi;ksx fd;k tkrk gSA 

 (d) dEI;wVj] nwj&lapkj rFkk ekbdzks bysDVªkWfuDl m|ksxA  
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ख᭛ड 'स' / Section 'C' 

दीघᭅउᱫरीय ᮧ᳤ (श᭣द सीमा 400-450 श᭣द) 
Long Answer Questions (Word Limit 400-450 Words) 

 
इकाई – I/ Unit – I 

1.  lkoZtfud lsokvksa dh izd`fr dh O;k[;k dhft;sA    
  Describe the nature of public utilities.  

अथवा/OR   lkoZtfud midzeksa dh Hkkjrh; vFkZO;oLFkk esa Hkwfedk dks Li’V dhft,A 
  Clarify the role of public enterprises in Indian Economy.     

इकाई – II/ Unit – II 
2.  iz'kklu esa lalnh; izfrc)rk dks Li’V dhft,A 
  Clarify the parliamentary accountability in administration.   

अथवा/OR   m|ksxksa dh lkekftd lajpuk dk o.kZu dhft;sA   
Discuss the social structure of Industry.  
 

इकाई – III/ Unit – III 
3.  yksd midzeksa dh foRr O;oLFkk fdl izdkj dh tkrh gS\ le>kb;sA 
  How is the financing of public corporation done? Explain.  

अथवा/OR   orZeku ifjizs{; esa vkS|ksxhdj.k dh izeq[k leL;kvksa dks le>kb;sA   
Explain the major problems of industrialisation in present scenario.  
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What is meant by sunrise industry? 
(a)  Related to light 
(b) Industries in which production is done in sunlight 
(c) Industries in which solar energy is used. 
(d) Computer, tele communication and micro electronics industries 

 

7. dsUnzh; okf.kT; ,oa m|ksx ea=h dkSu gSa\ 

 (a) ih;w’k xks;y   (b) jktukFk flag   

 (c) ujsUnz flag rksej   (d) ujsUnz eksnh 
Who is the Minister of Commerce and Industry?  
(a) Piyush Goyal   (b)  Rajnath Singh  
(c) Narendra Singh Tomar (d) Narendra Modi  
 

8. lkoZtfud {ks= ds fdrus midze uojRuksa dh Js.kh esa gSa\ 

 (a) 16  (b) 18   (c) 22  (d) 45 
How many public sector undertakings are in the cutegory of Naxratnas  
(a)  Taylor    (b) Simon 
(c) Gullick   (d) Urwick  
 

ख᭛ड 'ब' / Section 'B' 
लघउुᱫरीय ᮧ᳤ (श᭣द सीमा 200-250 श᭣द) 

Short Answer Questions (Word Limit 200-250 Words) 
 

इकाई – I/ Unit – I 
1.  lkoZtfud midzeksa dk egRo fyf[k,A      
  Write the importance of Public Enterprises.   
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 अथवा/OR   jk’Vªh;rkokn dh leL;kvksa dks le>kb;sA      

  Explain the problems of Nationalisation.  
 

इकाई – II/ Unit – II 
2.  laxBu ds fofHkUu izdkj dks le>kb;sA     
  Explain various forms of Organisation.  

अथवा/OR   lkoZtfud midzeksa esa ljdkjh fu;a=.k dh foospuk dhft;sA   
  Discuss the governmental control over public enterprises.  
 

 

.इकाई – III/ Unit – III 
3.  miHkksDrk laj{k.k vf/kfu;e ds izeq[k izko/kkuksa dk o.kZu dhft,\ 
  Explain the main provisions of consumers protection act.  

अथवा/OR   lkoZtfud midze ds ykHk fyf[k,A 
  Write the advantages of public enterprises.  

 
.इकाई – IV/ Unit – IV 

4.  Je dY;k.k laca/kh ;kstukvksa dh foospuk dhft;sA 
  Explain the labour welfare schemes.  

अथवा/OR   VªsM ;wfu;u dh Hkwfedk dks fyf[k,A 
  Writethe role of trade unious. 
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